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QUESTION 1

What is true of a classifier? (Choose three) 

A. can be part of a generalization hierarchy 

B. cannot be part a generalization hierarchy 

C. namespace whose members can include features 

D. namespace whose members cannot include features 

E. describes a set of instances that have features in common 

F. describes a set of instances that have no features in common 

Correct Answer: ACE 

 

QUESTION 2

What statements are true about interfaces? (Choose two) 

A. Interfaces are directly instantiable. 

B. Interfaces are not directly instantiable. 

C. A classifier may realize only one interface, but an interface may be realized by multiple classifiers. 

D. A classifier may realize more than one interface, but an interface may be realized by only one classifier. 

E. A classifier may realize more than one interface, and an interface may be realized by different classifiers. 

Correct Answer: BE 

 

QUESTION 3

Which describes active classes? 

A. classes that have state machines 

B. classes whose instances may signal other objects 

C. classes whose instances have their own thread of control 

D. classes whose instances are able to execute one or more operations 

E. classes whose instances are actively executing one or more operations 

Correct Answer: C 

 

Latest OMG-OCUP-100 Dumps | OMG-OCUP-100 PDF Dumps | OMG-OCUP-100 Practice Test                               2 / 3

https://www.pass2lead.com/omg-ocup-100.html
https://www.pass2lead.com/omg-ocup-100.html
https://www.pass2lead.com/omg-ocup-100.html


https://www.pass2lead.com/omg-ocup-100.html
2024 Latest pass2lead OMG-OCUP-100 PDF and VCE dumps Download

QUESTION 4

What can be captured by use cases? (Choose two) 

A. requirements of the system 

B. behaviors offered by the system 

C. data and control flow of the system 

D. changes in state over time of the system 

E. user-interface specification of the system 

Correct Answer: AB 

 

QUESTION 5

How many of the three incoming arrows to the diamond shape (as depicted in the exhibit) must provide values for the
diamond to have an effect? 

A. none 

B. one 

C. two 

D. three 

Correct Answer: B 
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